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public class FilterChain {
private List<Filter> filterList;

private int index;

public FilterChain(List<Filter> filterList) {
this.filterList = filterList;

}
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public Object execute() {

}

if (index > = filterList.size()) {
System.out.printIn("gME5EEE");
return null;

}
return filterList.get(index+ +).doFilter(this);

public static void main(String[] args) {

}
}

List<Filter> filters = new ArrayList<>(2);
filters.add(new FilterA());
filters.add(new FilterB());

Object execute = new FilterChain(filters).execute();

Filter

public interface Filter {
Object doFilter(FilterChain filterChain);

}

FilterSCI3E

public class FilterA implements Filter {
@Override
public Object doFilter(FilterChain filterChain) {

}

System.out.printin("AZMER]");
Object result = filterChain.execute();
System.out.printin("ALERF");
return result;

public class FilterB implements Filter {
@Override
public Object doFilter(FilterChain filterChain) {

System.out.printin("B&Z-ERRE]");
Object result = filterChain.execute();
System.out.printIn("B&EF");
return result;
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